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1. Choose the correct answer from the
following : 1x8=8

(@) Who defines industry as “Industry is the
production of an economic good and
services within an economy”?

() C. More
(i) E. Mayo
(iii) J. H. Smith
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(b) Who is the author of the book, The
Coming of Post-Industrial Society?

(i) Parker and Brown
(i) D. Bell
(i) P. Jisbert
(0 Whose mname is associated with
industrial bureaucracy?
() K. Marx
(i) E. Durkheim
fiti) M. Weber

(d) The Hawthorne Experiment was
conducted during

() 1924-32
(i) 1933-42
(iii) 1947-49

(e) Who is the author of the book, ’f‘he
Sociological Framework of an Indian
Factory?

(i) S. V. Gankar
(i) W. E. Moore
(iii) N. R. Sheth
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(/) INTUC was established in the year
(i) 1918
(i) 1919
(iij) 1920

(g9 The Plantation Labour Act was passed
in the year

(i) 1951.
(i) 1955
(iii) 1957

(h) When was the Royal Commission of
India constituted?

(i) 1931
(i) 1933
(i) 1935
2. Write briefly on any four from the following
(within 150 words each) : 4x4=16
(a) Modern industrial man
(b) Industrial bureaucracy
(c) Types of trade union
(d) Agencies for labour welfare

(e) Social security measures in India
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3. Answer any four questions from the following
(within 500 words each) : 14x4=56

(a) Write about the emergence and
development of industrial sociology. 14

(b) What is formal organization? Write
about the different departments of
formal organization. 4+10=14

(c) Write a note on the significance of
counselling for labourers to avoid stress

and anxiety in industrial organization. 14

(d) Critically evaluate the provisions of the
Minimum Wages Act, 1948. . 14

(e) Show the relationship between industry
and entrepreneurship with examples. 14

() What is labour welfare fund? Write
about the Mica Mines Labour Welfare
Fund. \ 4+10=14
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